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Disks are objects in study state

.

They
are gaseous

 objects ,so we

need to  solve the equations. of tydndynamics in a centralpotential
.
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The first equation gives
the condition

of centrifuge bdence
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if T falls slower than Yr
, h increases withdistance

So which one is it ? To  

answer
that
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calculate disk temperature .

Lnejne a flat thin disk that absorbs all incoming light and

re .  emits as black body . The flux  is
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 we got the sleety stelesolution
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without
 radial velocities . S #
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without doing much . show plot

of time dissipation .

The disksevoke in time ! This  isobviousat first
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angular momentum is a

conserved
quantity
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gas parcel cannot simply

" lose "

angular momentum
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to betransported
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The dish has about 30 .  imore angular momentum than the star
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angular momentumsomehow.
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Kosty
is something for engineers ,
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in
 accretion dish Theory-
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it occupies the central spot .
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Ring A movies faster then B .

Friction between them will
slow down A  and speed up

B
. Angular momentum

is transferred from A to B .
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moves outward

Let's understand this process . The viscous force is
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Amazingly enough , for v :  de this equation has an analytical
solution Show ,
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The Shakira - Sunyaev model
_

Turbulence is a source of viscosity
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This term behews the a viscous

tensor,
and transports

angular  momentum .

Effectively
,

it's a diffusion of
momentum

, coming from
the advection 1am , adveetny momentum at of a

gaussian
surface .

they addsKen believe like a viscous term
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Equivalent statement : the angular  momentum must  increase outward
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Since the orbit
of

lower angular  momentum is  outward , if A loses angular
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gaining angular  momentum must  more  inward
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Practical example .
Code your own AD finite - difference code
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